Sample Test 7
Timed question [100 Points]: Solve this Aristocrat which is a quote by Emile Durkheim. When you have solved it,
raise your hand so that the time can be recorded and the solution checked.

VU VI IXVDEXD, ZEJ EMU TDAVNVME, CBVXB BZI UZYNBU
IT IS SCIENCE, AND NOT RELIGION, WHICH HAS TAUGHT

FDE UBZU UBVENI ZTD XMFLADG ZEJ JVRRVXYAU UM
MEN THAT THINGS ARE COMPLEX AND DIFFICULT TO

YEJDTIUZEJ.
UNDERSTAND.

A/B|CID|E|/F|G|H|I|J|K|L

Frequency | 3|6
Replacement L|HW|E|N|M|X|K|S|D|B|P
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Sample Test 7

1) [250 Points] Solve this K1 key encoded Patristocrat which is a quote by Stephen Hawking in “a Brief History of
Time” and ends with JOB.

SHVNT SHZCH BKHCL VWXVZ IVXHI UTWVQ FKZVS QWVSU
ANEXP ANDIN GUNIV ERSED OESNO TPREC LUDEA CREAT

IWYKU CUZIV XTFSQ VFCGC UXIHM RVHRV GCBRU RSLVQ
ORBUT ITDOE SPLAC ELIMI TSONW HENHE MIGHT HAVEC

SWWCV ZIKUR CXDIY
ARRIE DOUTH ISJOB

K1 ABCDEFGHI JKLMNOPQRSTUVWXYZ
Frequency 2181 312|7|7] |4(2]1]|1 415|713|7]|13/6|5|2|5
Replacement| F |G| | | J|K|L{M|IN|O|Q|U|V|W|X|Y|Z|C|H|A|P|T|E|R|[S|B|D

2) [120 Points] Solve this Aristocrat which is a quote from the Canadian writer, journalist, and critic Milton
Shulman which has the word GOD in it twice.

W PSAD O HOBEAHOBWGWOS DEU FOWX 'W XU SUB PSUD OF
I KNEW A MATHEMATICIAN WHO SAID 'I DO NOT KNOW AS

HCGE OF LUX. JCB W PSUD OF HCGE OF LUX PSAD OB HV
MUCH AS GOD. BUT I KNOW AS MUCH AS GOD KNEW AT MY

OLA'.
AGE'.

ABCDEFGHI JKLMNOPQRSTUVWXY Z
Frequency 415|3|5(4|5|3|5| |1| |3 11/ 4 6| [7]1|6|4
Replacement| E| T|UW|H|S|C|M|R|B|X|G|L|F|A|K|P|V|N|Z|O|Y]|I|D|J|Q




Sample Test 7
3) [125 Points] Solve this Aristocrat which is a quote from the famous comic strip character Calvin

AENA'Y AEG TUKSOGW BXAE PNADUG. YKWGAEXPV'Y NOBNIY
THAT'S THE PROBLEM WITH NATURE. SOMETHING'S ALWAYS

YAXPVXPV IKD KU KKCXPV WDJDY KP IKD. OGA'Y VK BNAJE
STINGING YOU OR OOZING MUCUS ON YOU. LET'S GO WATCH

AM.
TV.

ABCDEFGHI JKLMNOPQRSTUVWXYZ
Frequency (10(3|1(5|5| |[5] |3|2]|9 115(3|6 111(3|5|3|5]|7
Replacement| T|W|Z|U|H|J |[E|Q|Y|C|O|K|V|A|L|N|X|F|B|P|R|G|M|I|S|D

4) [125 Points] Solve this Aristocrat which is a quote from an anonymous source.

IGVJHGJ AEI HZC RJNJOUVHJR NAJOJ VI E RVOJGN
SCIENCE HAS NOW DETERMINED THERE IS A DIRECT

OJQENVZHIAVB SJNCJJH NAJ CEP NAJ SEQQ SZYHGJI EHR
RELATIONSHIP BETWEEN THE WAY THE BALL BOUNCES AND

NAJ GZZDVJ GOYUSQJI.
THE COOKIE CRUMBLES.

ABCDEFGHI JKLMNOPQRSTUVWXYZ
Frequency (6]1]|3|1(6 6(7|6]|18 8(5(1|4|4]4| |2|7 2|5
Replacement|H| P |W|K|A|X|C|N|S|E|J|G|V|T|R|Y|L|D|B|Q[M|I|Z|F|U|O




Sample Test 7

5) [250 Points] Solve this K1 key encoded Patristocrat which is a quote by Barbara Tuchman in “Can History Be

Served Up Hot?” and has the word THE in it three times and ends with HEARD.

JFHVI DHESD LHLBC UJOUI SIHSJ FHDJF CISVD SRLMD
THEUN RECOR DEDPA STISN ONEOT HERTH ANOUR OLDFR

OHILJ FHJDH HOIJF HBDOG HWCRM SDHUJ XFOEF MHRRX
IENDT HETRE EINTH EPRIM EVALF OREST WHICH FELLW

OJFSV JKHOI NFHCD L
ITHOU TBEIN GHEAR D

K1 ABCDEFGHI JKLMNOPQRSTUVWXY Z
Frequency 2(419]12|9(1|157(10(1]|5(3|1|7 417 |3(3|1|2
Replacement| Z|P|A|R|C|HIM[E|N|T|B|D|F|G|I|J|K|L|O|Q|S|U|VIW|X|Y

6) [125 Points] Solve this Aristocrat which is a quote from Isaac Asimov in his “Book of Science and Nature
Quotations”.

WNZDSVLXI QXL OLVVLX VBQR EL QXL QV QXMVBZLVMW, RNV
COMPUTERS ARE BETTER THAN WE ARE AT ARITHMETIC, NOT

OLWQSIL WNZDSVLXI QXL IN JNNA QV MV, OSV OLWQSIL EL
BECAUSE COMPUTERS ARE SO GOOD AT IT, BUT BECAUSE WE

OXL IN OQA QV MV.
ARE SO BAD AT IT.

ABCDEFGHI JKLMNOPQRSTUVWXYZ
Frequency (22| [2]2 6(1| |154(7|5| [12/2|5 14/5(8| |3
Replacement D|H|K|PW/|J [L|Q|S|G|V|E| I |O|B|Z|A[N|U|Y|X|T|C|R|FM




